Electronic Journal of Differential Equations, Vol. 2007(2007), No. 01, pp. 1–7. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu ftp ejde.math.txstate.edu (login: ftp)

ON OSCILLATION AND ASYMPTOTIC BEHAVIOUR OF A NEUTRAL DIFFERENTIAL EQUATION OF FIRST ORDER WITH POSITIVE AND NEGATIVE COEFFICIENTS

RADHANATH RATH, PRAYAG PRASAD MISHRA, LAXMI NARAYAN PADHY

ABSTRACT. In this paper sufficient conditions are obtained so that every solution of

 $(y(t) - p(t)y(t - \tau))' + Q(t)G(y(t - \sigma)) - U(t)G(y(t - \alpha)) = f(t)$

tends to zero or to $\pm \infty$ as t tends to ∞ , where τ, σ, α are positive real numbers, $p, f \in C([0,\infty), R), Q, U \in C([0,\infty), [0,\infty)), \text{ and } G \in C(R,R), G \text{ is non}$ decreasing with xG(x) > 0 for $x \neq 0$. The two primary assumptions in this paper are $\int_{t_0}^{\infty} Q(t) = \infty$ and $\int_{t_0}^{\infty} U(t) < \infty$. The results hold when G is linear, super linear, or sublinear and also hold when $f(t) \equiv 0$. This paper generalizes and improves some of the recent results in [5, 7, 8, 10].

1. INTRODUCTION

The study of neutral delay differential equation (NDDE) has been the centre of attraction of many researchers all over the world for the last several years. The authors in a recent paper [10] which improved [7] substantially considered the first order forced nonlinear neutral delay differential equation

$$(y(t) - p(t)y(t - \tau))' + Q(t)G(y(t - \sigma)) - U(t)G(y(t - \alpha)) = f(t),$$
(1.1)

where τ, σ, α are positive numbers, $p, f \in C([0, \infty), R), Q, U \in C([0, \infty), [0, \infty)).$ The authors in [10] proved that every non-oscillatory solution of (1.1) tends to zero as t tends to ∞ , using the following hypothesis.

- (H0) $G \in C(R, R)$ with G non-decreasing and xG(x) > 0 for $x \neq 0$.
- $\begin{array}{l} (\mathrm{H1}) \quad \int_{t_0}^{\infty} Q(t) \, dt = \infty. \\ (\mathrm{H2}) \quad \int_{t_0}^{\infty} U(t) \, dt < \infty. \end{array}$
- (H3) There exists a bounded function $F \in C'([0,\infty), R)$ such that F'(t) = f(t)and $\lim_{t\to\infty} F(t) = 0.$ (H4) $\lim_{|u|\to\infty} \frac{G(U)}{U} \leq \beta$ where $\beta > 0.$ (H5) $Q(t) > U(t - \sigma + \alpha).$

- (H6) $\sigma > \alpha$ or $\sigma < \alpha$.

Further the following ranges of p(t) were considered in [10].

(A1)
$$0 \le p(t) \le p < 1$$
,

²⁰⁰⁰ Mathematics Subject Classification. 34C10, 34C15, 34K40.

Key words and phrases. Oscillatory solution; nonoscillatory solution; asymptotic behaviour. ©2007 Texas State University - San Marcos.

Submitted November 2, 2006. Published January 2, 2007.

 $\begin{array}{ll} (\mathrm{A2}) & -1 < -p \leq p(t) \leq 0, \\ (\mathrm{A3}) & -p_2 \leq p(t) \leq -p_1 < -1, \\ (\mathrm{A4}) & 1 < p_1 \leq p(t) \leq p_2, \\ (\mathrm{A5}) & -p_2 \leq p(t) \leq 0, \\ (\mathrm{A6}) & 0 \leq p(t) \leq p_2, \end{array}$

where p, p_1, p_2 are positive real numbers.

We strongly feel (1.1) is not yet studied systematically. In this paper we find sufficient conditions so that all non-oscillatory solutions of (1.1) tend to zero or $\pm\infty$, as t tends to ∞ and these conditions improve [10]. Almost all authors [4, 7, 10, 11, 12] studied (1.1) with assumption (H6). But in this paper we could do away with the conditions (H6). Further we succeeded to relax (H4) and (H5) as suggested by the authors in their comments in [10] for further research. We have given two more theorems, one with p(t) as in (A6) and another when p(t) is oscillatory and noted some errors in the literature. In this work the assumption (H2) permits to take $U(t) \equiv 0$. Thus this paper extends and generalizes the work [5, 8]. At the last but not the least an example is given to illustrate the significance of our work.

By a solution of (1.1), we mean a real valued continuous function y on $[t_y - \rho, \infty)$ such that $(y(t) - p(t)y(t - \tau))$ is once continuously differentiable for $t \ge t_y$ and (1.1) is satisfied identically for $t \ge t_y$, where $\rho = \max(\tau, \sigma)$. A solution of (1.1) is said to be oscillatory if and only if it has arbitrarily large zeros. Otherwise it is said to be non-oscillatory.So far as existence and uniqueness of solutions of (1.1) are concerned one may refer [6], but in this work we assume the existence of solutions of (1.1) and study their qualitative behaviour. In the sequel, unless otherwise specified, when we write a functional inequality, it will be assumed to hold for all sufficiently large values of t.

2. Main Results

Theorem 2.1. Suppose that p(t) satisfies (A1) or (A2). Let (H0)-(H3) hold. Then every solution of (1.1) oscillates or tends to zero as $t \to \infty$.

Proof. Let y(t) be any non-oscillatory positive solution of (1.1) on $[t_y, \infty)$. For $t \ge t_0 = t_y + \rho$, we set

$$z(t) = y(t) - p(t)y(t - \tau),$$
(2.1)

$$K(t) = \int_{t}^{\infty} U(s)G(y(s-\alpha))\,ds,$$
(2.2)

$$w(t) = z(t) + K(t) - F(t).$$
(2.3)

Thus for $t \ge t_0$, we obtain

$$v'(t) = -G(y(t-\sigma))Q(t) \le 0.$$
(2.4)

Hence $w(t) \leq 0$ or $w(t) \geq 0$ for $t > t_1 > t_0$ and $\lim_{t\to\infty} w(t) = l$ where $-\infty \leq l < \infty$. We claim y(t) is bounded. Otherwise there exists a sequence $< T_n >$ such that $n \to \infty$ implies

$$T_n \to \infty, y(T_n) \to \infty \text{ and } y(T_n) = \max(y(s) : t_1 \le s \le T_n).$$
 (2.5)

We may choose n sufficiently large such that $T_n - \rho > t_1$. Suppose that p(t) satisfies (A1). Then using (H3), for any $t > t_2 > t_1$ we obtain

$$w(T_n) \ge y(T_n) - p(T_n)y(T_n - \tau) + K(T_n) - F(T_n) \ge (1 - p)y(T_n) - \epsilon.$$
(2.6)

EJDE-2007/01

As $n \to \infty$, we see that $w(t_n) \to \infty$, a contradiction. Hence y(t) is bounded. Similarly it can be shown if p(t) satisfies (A2) then also y(t) is bounded. Consequently z(t) and w(t) are bounded. Hence it follows from (H0), (H2) and (2.2) that K(t) is convergent and

$$K(t) \to 0 \quad \text{as } t \to \infty.$$
 (2.7)

Then

$$\lim_{t \to \infty} w(t) = \lim_{t \to \infty} z(t) = l.$$
(2.8)

Next we claim $\liminf_{t\to\infty} y(t) = 0$. Otherwise for large $t \ge t_2$, y(t) > m > 0 and since G is nondecreasing,

$$\int_{t_2}^{\infty} G(y(s-\sigma))Q(s)\,ds > G(\beta)\int_{t_2}^{\infty} Q(s)\,ds = \infty,\tag{2.9}$$

by (H1). However, integrating (2.4) between t_2 to ∞ we obtain

$$\int_{t_2}^{\infty} G(y(s-\sigma))Q(s)\,ds < \infty,\tag{2.10}$$

a contradiction. Hence our claim holds. If p(t) satisfies (A1) then $\liminf_{t\to\infty} z(t) < \liminf_{t\to\infty} y(t) = 0$. Now two distinct cases arise. Consider the first one $l \ge 0$. Then $z(t) \ge 0$ for large t. Then it follows that $\lim_{t\to\infty} z(t) = 0$. Then

$$0 = \lim_{t \to \infty} z(t) = \limsup_{t \to \infty} (y(t) - p(t)y(t - \tau))$$

$$\geq \limsup_{t \to \infty} y(t) + \liminf_{t \to \infty} (-py(t - \tau))$$

$$= (1 - p) \limsup_{t \to \infty} y(t);$$

which implies $\limsup_{t\to\infty} y(t) = 0$. Hence $\lim_{t\to\infty} y(t) = 0$. Next consider the second case $l \leq 0$. Then $z(t) \leq 0$. We claim $\limsup_{t\to\infty} y(t) = 0$. Otherwise suppose $\limsup_{t\to\infty} y(t) = \mu > 0$. Then we can find a sequence $\langle t_n \rangle$ such that $y(t_n) \to \mu$ as $n \to \infty$. As $y(t_n - \tau)$ is bounded, hence there can be a subsequence $\langle t_{n_k} \rangle$ such that $y(t_{n_k} - \tau) \to \lambda$ where $\lambda \leq \mu$. Then

$$z(t_{n_k}) = y(t_{n_k}) - p(t_{n_k})y(t_{n_k} - \tau)$$

$$\geq y(t_{n_k}) - py(t_{n_k} - \tau)$$

$$\rightarrow \mu - p\lambda \geq (1 - p)\mu > 0.$$

Hence we have a contradiction because $z(t) \leq 0$. Thus our claim holds and consequently $\lim_{t\to\infty} y(t) = 0$. If the function p(t) satisfies (A2), then $z(t) \geq 0$. Since $\liminf_{t\to\infty} y(t) = 0$, we get a infinite sequence $\langle t_n \rangle$ such that $n \to \infty$ implies $t_n \to \infty$ and consequently $y(t_n) \to 0$. Then $z(t_n) \leq y(t_n) + py(t_n - \tau)$. Taking limit $n \to \infty$ we get $l \leq p\mu$, where $\limsup_{t\to\infty} y(t) = \mu$. As $z(t) \geq y(t)$, because of (A2) it is found that $\limsup_{t\to\infty} z(t) \geq \mu$. This implies $l \geq \mu$. Thus $\mu(p-1) \geq 0$. Then μ must be zero because p < 1. Hence $\limsup_{t\to\infty} y(t) = 0$. Thus $\lim_{t\to\infty} y(t) = 0$. The proof for the case when y(t) < 0 is similar. Thus the theorem is completely proved.

Next we state a Lemma found in [6, page19].

Lemma 2.2. Let $u, v, p: [0, \infty) \to R$ be such that $u(t) = v(t) - p(t)v(t-c), t \ge c$, where $c \ge 0$. Suppose that p(t) is in one of the ranges (A2), (A3) or(A6). If v(t) > 0 for $t \ge 0$ and $\liminf_{t\to\infty} v(t) = 0$ and $\lim_{t\to\infty} u(t) = L$ exists then L = 0. **Theorem 2.3.** Suppose (H0)-(H3) hold.

- (i) If p(t) lies in the ranges (A3) then every solution of (1.1) oscillates or tends to zero as $t \to \infty$.
- (ii) If p(t) satisfies (A4) then every bounded solution of (1.1) oscillates or tends to zero as $t \to \infty$.

Proof. Consider first the proof for (i) and suppose that p(t) satisfies (A3). Let y(t) be any nonoscillatory positive solution of (1.1) on $[t_y, \infty)$. For $t \ge t_0 = t_y + \rho$, we set z(t), K(t) and w(t) as in (2.1), (2.2) and (2.3) respectively and obtain (2.4). As in the Theorem 2.1 we prove that y(t) is bounded. Then it follows that (2.7) and (2.8) hold. Next we use (2.9) and (2.10) to prove $\liminf_{t\to\infty} y(t) = 0$ as in Theorem 2.1. If p(t) satisfies (A3), then we apply Lemma 2.2 and obtain $\lim_{t\to\infty} z(t) = 0$. Then since $y(t) \le z(t)$, $\limsup_{t\to\infty} y(t) \le 0$. Consequently, $\lim_{t\to\infty} y(t) = 0$.

The proof for (ii) follows similarly and we obtain $\lim_{t\to\infty} z(t) = 0$. Then we note that $0 \leq \lim_{t\to\infty} z(t) \leq (1-p_1) \limsup_{t\to\infty} y(t)$. Hence $\lim_{t\to\infty} y(t) = 0$ since $p_1 > 1$. The proof for the case y(t) < 0 for $t \geq t_y$ is similar. Thus the theorem is proved.

Remark 2.4. Theorems 2.1 and 2.3 hold when G is linear, sublinear or super linear. These two theorems improve [10, Theorems 2.2, 2.4, 2.7] because the conditions (H4),(H5) and (H6) are not used in our result. These conditions are used in previous papers [4, 10, 12].

Theorem 2.5. Suppose that p(t) satisfies (A5). Let $(H_0), (H_2)$ and (H3) hold. Then suppose that

- (H7) $\int_{\rho}^{\infty} Q^*(t) dt = \infty$ where $Q^*(t) = \min [Q(t), Q(t-\tau)],$
- (H8) $\dot{G}(-u) = -G(u),$

. . .

(H9) for u > 0, v > 0, $G(u)G(v) \ge G(u)G(v)$ and $G(u) + G(v) \ge \delta G(u+v)$, where $\delta > 0$ is a constant.

Then every solution of (1.1) oscillates or tends to zero as $t \to \infty$.

Proof. Let y(t) be an eventually positive solution of (1.1) for $t > t_y$. Then we set z(t), K(t) and w(t) as in (2.1) ,(2.2) and (2.3) respectively and obtain (2.4). Then $w'(t) \leq 0$. Hence w(t) is monotonic and single sign. Consequently $\lim_{t\to\infty} w(t) = l$ where $-\infty \leq l < \infty$. We claim y(t) is bounded, otherwise y(t) is unbounded implies z(t) is unbounded. Hence there exists an increasing sequence $\langle t_n \rangle$ such that $t_n \to \infty, z(t_n) \to \infty$ as $n \to \infty$ and $z(t_n) = \max(z(t) : t_1 \leq t \leq t_n)$. Then $n \to \infty$ implies $w(t_n) = z(t_n) + K(t_n) - F(t_n) \to \infty$. Thus we get a contradiction. Hence y(t) is bounded which implies $\lim_{t\to\infty} z(t) = l$. Further l < 0 is not possible since $z(t) \geq 0$ for large t. Thus $0 \leq l < \infty$. Again bounded ness of y(t) and (H2) yield (2.7). If l=0 then $\lim_{t\to\infty} y(t) = 0$ and if l > 0 then for $t \geq t_2 > t_1, z(t) > \lambda > 0$. Using definition of $Q^*(t)$ and (H9) one may obtain

$$0 = w'(t) + Q(t)G(y(t - \sigma)) + G(-p(t - \sigma))w'(t - \tau) + G(-p(t - \sigma))G(y(t - \sigma - \tau))Q(t - \tau) \geq w'(t) + G(p_2)w'(t - \tau) + Q^*(t)[G(y(t - \sigma)) + G(-p(t - \sigma))G(y(t - \sigma - \tau))] \geq w'(t) + G(p_2)w'(t - \tau) + \delta Q^*(t)G(z(t - \sigma)) \geq w'(t) + G(p_2)w'(t - \tau) + \delta G(\lambda)Q^*(t).$$

EJDE-2007/01

Integrating the above inequality from t_2 to ∞ and using (H7) we arrive at the contradiction that $w(t) + G(p_2)w(t-\tau) \to -\infty$ as $t \to \infty$. The proof for the case y(t) < 0 is similar and it may be noted that (H8) is required in this case. Thus the theorem is proved.

Remark 2.6. The prototype of function satisfying (H8) and (H9) is $G(u) = (\beta + \beta)$ $|u|^{\lambda}|u|^{\mu}$ sgn u with $\lambda > 0, \, \mu > 0, \, \beta \ge 1.$

Remark 2.7. The above Theorem substantially improves [10, Theorems 2.11] because the authors there have used the following three additional conditions for their work.

- (i) U(t) is monotonic increasing.
- (ii) $\alpha > \sigma$.
- (iii) $Q^*(t) \ge U(t \sigma + \alpha \tau).$

Remark 2.8. Condition (H7) implies (H1), but the converse is not true.

Theorem 2.9. Suppose p(t) is oscillating and tends to zero as $t \to \infty$ with $-p_2 \leq \infty$ $p(t) \leq p_1 < 1$, where p_1 and p_2 are positive real numbers. If (H0)-(H3) hold then every solution of (1.1) oscillates or tend to 0 as $t \to \infty$.

Proof. Suppose y(t) does not oscillate. Then y(t) > 0 or y(t) < 0 for $t \ge t_0$. Let y(t) > 0 for $t \ge t_1 > t_0$. The proof for the case y(t) < 0 is similar. Set z(t), w(t), and k(t) as in (2.1), (2.2) and (2.3) respectively and obtain (2.4). Hence w(t) is monotonic and single sign. w(t) > 0 or w(t) < 0 for $t > t_2 > t_1$. We claim y(t) is bounded. Otherwise there exists a sequence T_n >such that $T_n \to \infty, y(T_n) \to \infty$ as $n \to \infty$ and $y(T_n) = \max(y(s) : t_1 \le s \le T_n)$. We may choose n sufficiently large such that $T_n - \rho > t_2$. Then using (H3) for any $t > t_3 > t_2$ we obtain

$$w(T_n) \ge y(T_n) - p(T_n) + K(T_n) - F(T_n) \ge y(T_n)(1 - p_1) - \epsilon.$$

As $n \to \infty$, we see that $w(t_n) \to \infty$, a contradiction. Hence y(t) is bounded. Consequently z(t) and w(t) are bounded. Use of (H0) and (H2) yields (2.7). Next we prove $\liminf_{t\to\infty} y(t) = 0$ as in Theorem 2.1. Since $p(t) \to 0$ as $t \to \infty$ and y(t) is bounded therefore we have $\lim_{t\to\infty} p(t)y(t-\tau) = 0$. From the facts that $\lim_{t\to\infty} w(t) = l$ exists, $\lim_{t\to\infty} k(t) = 0$ and $\lim_{t\to\infty} F(t) = 0$ it follows that $\lim_{t\to\infty} y(t)$ exists and must be equal to zero. Thus the theorem is proved.

Remark 2.10. For the results with p(t) oscillating, we may refer Theorem 6(ii) of [3] where the proof is wrong because they have used Lemma 2.2 in their proof which is not permissible since p(t) does not satisfy the conditions of the lemma. Again we have another result with p(t) oscillating is [9, Theorem 2.4] where p(t) is periodic and $-1 < -p_4 \le p(t) \le p_5 < 1$ with $p_5 + p_4 < 1$.

Theorem 2.11. Let p(t) be in range (A6). Suppose that (H0), (H2) and (H3) hold. Then (i) every unbounded solution of (1.1) oscillates or tends to $\pm\infty$ as $t\to\infty$ and (ii) every bounded solution of (1.1) oscillates or tends to zero as $t \to \infty$ if the following condition holds:

- (H10) suppose that, for every sequence $\langle \sigma_i \rangle \subset (0,\infty), \sigma_i \to \infty$ as $i \to \infty$ and for every $\beta > 0$ such that the intervals $(\sigma_i - \beta, \sigma_i + \beta)$, $i = 1, 2, \ldots$, are non overlapping, $\sum_{i=1}^{\infty} \int_{\sigma_i-\beta}^{\sigma_i+\beta} Q(t) dt = \infty.$

Proof. First let us prove (i) and suppose y(t) is an unbounded positive solution of (1.1) for $t \geq T_0$. Then set z(t), K(t) and w(t) as in (2.1), (2.2) and (2.3) respectively and obtain (2.4). Hence $w'(t) \leq 0$, for $t \geq T_0 + \sigma$. Then w(t) > 0 or w(t) < 0 for $t > T_1 > T_0 + \sigma$. In either case $\lim_{t\to\infty} w(t) = l$ where $-\infty \leq l < \infty$. If $l \neq -\infty$ then $\lim_{t\to\infty} w(t)$ exists. Integrating (2.4) from T_1 to t and then taking limit as $t \to \infty$, one obtains (2.10). Since y(t) is unbounded, there exists a sequence $\langle t_n \rangle \subset [T_1, \infty)$ such that $t_n \to \infty$ and $y(t_n) \to \infty$ as $n \to \infty$. Hence, for every M > 0, there exists $N_1 > 0$ such that $y(t_n) > M$ for $n \geq N_1$. Since y(t) is continuous, there exists $\delta_n > 0$ such that y(t) > M for $t \in (t_n - \delta_n, t_n + \delta_n)$ and $n \geq N_1$ and $\liminf_{n\to\infty} \delta_n > 0$. Hence $\delta_n > \delta > 0$ for $n \geq N_2$. Choose $N > \max(N_1, N_2)$ such that $t_N > T_1$. Hence

$$\begin{split} \int_{t_N+\delta_N+\sigma}^{\infty} Q(t)G(y(t-\sigma))\,dt &\geq \sum_{i=N+1}^{\infty} \int_{t_i-\delta_i+\sigma}^{t_i+\delta_i+\sigma} Q(t)G(y(t-\sigma))\,dt \\ &\geq G(M) \sum_{i=N+1}^{\infty} \int_{t_i-\delta_i+\sigma}^{t_i+\delta_i+\sigma} Q(t)\,dt \\ &\geq G(M) \sum_{i=N+1}^{\infty} \int_{t_i+\sigma-\delta}^{t_i+\sigma+\delta} Q(t)\,dt. \end{split}$$

Then from (H10) it follows that $\int_{t_N+\delta_N+\sigma}^{\infty} Q(t)G(y(t-\sigma)) dt = \infty$, a contradiction to (2.10). If $l = -\infty$ then from (2.3) it follows that $w(t) + F(t) \ge z(t)$. Hence using (H3) one may obtain $\lim_{t\to\infty} z(t) = -\infty$. As $z(t) > -p(t)y(t-\tau) \ge -p_2y(t-\tau)$ for $t \ge T_1$, then $\lim_{t\to\infty} y(t) = \infty$. If y(t) < 0, and unbounded for large t then we proceed similarly to obtain $\lim_{t\to\infty} y(t) = -\infty$. Next let us prove (ii) and assume y(t) to be an eventually positive and bounded solution of (1.1) for large t. Then we proceed as in the first case and obtain (2.10) because $l \neq -\infty$. We claim $\lim_{t\to\infty} y(t) = 0$. Otherwise let $\lim_{t\to\infty} y(t) = \mu > 0$. Then there exists a sequence $\langle t_n \rangle$ such that $y(t_n) > M > 0$ for large n. Since y(t) is continuous there exists $\delta_n > 0$ such that y(t) > M for $t \in (t_n - \delta_n, t_n + \delta_n)$ and $n \ge N_1$ and $\liminf_{n\to\infty} \delta_n > 0$. Then proceeding as in the y(t) unbounded case, we get

$$\int_{t_N+\delta_N+\sigma}^{\infty} Q(t)G(y(t-\sigma))\,dt = \infty,$$

by (H10) which contradicts (2.10). Hence $\lim_{t\to\infty} y(t) = 0$. The proof for the case when y(t) < 0 is similar. Thus the proof is complete.

Remark 2.12. Condition (H10) implies (H1) but not conversely.

Remark 2.13. In [10] the authors in their comments for further research suggested to develop a theorem for (1.1) when p(t) is in the range (A6).

Remark 2.14. In all the results above we do not have any restriction on the sign of coefficient function f(t). It may be positive, negative, zero or oscillating.

Example. Consider the NDDE

$$(y(t) - e^{-1}y(t-1))' + 2y^3(t-3) - t^{-2}y^3(t-2) = 2e^{9-3t} - t^{-2}e^{6-3t}, \quad t > 0.$$
(2.11)

This equation satisfies all the conditions of Theorem 2.1 of this paper for p(t) in the range (A1). Hence all solutions of (2.11) either oscillate or tend to zero as $t \to \infty$. As such $y(t) = e^{-t}$ is a solution which tends to 0 as $t \to \infty$. Here $G(u) = u^3$ is super linear. Since $\alpha = 2 < 3 = \sigma$, the results in [4, 7, 11, 12] cannot be applied to this NDDE. Even [10, Theorem 2.2] (where $\sigma > \alpha$) cannot be applied to (2.11) because it does not satisfy the sub linear condition (H4).

Acknowledgements. The authors are thankful to the anonymous referee for his or her helpful comments to improve the presentation of the paper.

References

- Faiz Ahmad, Linear delay differential equation with a positive and a negative term, Electronic Journal of Differential equations, 2003 (2003), No. 92, 1-6.
- [2] Leonid Berezansky and Elena Braverman, Oscillation for equations with positive and negative coefficients and with distributed delay I: General Results, Electronic journal of Differential equations, 2003 (2003), No.12, 1-21.
- [3] Ming-Po Chen, Z. C. Wang, J. S. Yu, and B. G. Zhang, Oscillation and asymptotic behaviour of higher order neutral differential equations, Bull. Inst. Math. Acad. Sinica, 22 (1994), 203-217.
- [4] Q. Chuanxi and G. Ladas, Oscillation in differential equations with positive and negative coefficients, Canad. Math. Bull., 33 (1990), 442-450.
- [5] P. Das and N. Misra, A necessary and sufficient condition for the solution of a functional differential equation to be oscillatory or tend to zero, J. Math. Anal. Appl., 204 (1997), 78-87.
- [6] I. Gyori and G. Ladas, Oscillation Theory of Delay-Differential Equations with Applications, Clarendon Press, Oxford, 1991.
- [7] N. Parhi and S. Chand, On forced first order neutral differential equations with positive and negative coefficients, Math. Slovaca, 50 (2000), 81-94.
- [8] N. Parhi and R. N. Rath, Oscillation criteria for forced first order neutral differential equations with variable coefficients, J. Math. Anal. Appl., 256 (2001), 525-541.
- [9] N. Parhi and R. N. Rath, On oscillation of solutions of forced nonlinear neutral differential equations of higher order II, Annales Polonici Mathematici, 81. 2 (2003), 101-110.
- [10] R. N. Rath and N. Misra, Necessary and sufficient conditions for oscillatory behaviour of solutions of a forced non linear neutral equation of first order with positive and negative coefficients, Math. Slovaca, 54 (2004), 255-266.
- [11] J. S. Yu and Z. Wang, Neutral differential equations with positive and negative coefficients, Acta Math. Sinica, 34 (1991), 517-523.
- [12] J. S. Yu and Z. Wang, Some further results on oscillation of neutral differential equations, Bull. Austral. Math. Soc., 46 (1992), 149-157.

RADHANATH RATH

DEPARTMENT OF MATHEMATICS, KHALLIKOTE AUTONOMOUS COLLEGE, BERHAMPUR, 760001 ORISSA, INDIA

E-mail address: radhanathmath@yahoo.co.in

Prayag Prasad Mishra

Department of Mathematics, Silicin Institute of Technology, Bhubaneswar, Orissa, India

E-mail address: prayag@silicon.ac.in

Laxmi Narayan Padhi

DEPARTMENT OF MATHEMATICS, K.I.S.T, BHUBANESWAR ORISSA, INDIA E-mail address: ln_padhy_2006@yahoo.co.in